Towbar
6747

Kia
* Proceed GT-line 2018->
* Proceed GT 2021->

Nt Montagehandleiding

G Fittinginstructions

b Montageanleitung

F Instructions de montage

s Monteringsanvisningar

ok Montagevejledning

E Instrucciones de montaje
I Istruzioni peril montaggio
L Instrukcja montazu

st Asennusohjeet

a  Pokyny k montazi

H  Szerelési Gtmutatd

Rus PYKOBOZCTBO 419 MOHTaXa

Your perfect Fit
brink.eu




D= MAXKG X MAXK G

X 0,0098 1< 10,00kN ((~

674770/14-12-2021/2




ﬁ a

T R R

Couplingsclass: A50-X

D-Value : 8.41kN

) 8.8

o)  10.9

A o v

674770/14-12-2021/3



ser.nr.
M10x1,25x40 (10.9)
55Nm

G MY E |
8 6747/4

M12x40 (10.9) N
120Nm

M12x25 (10.9)
160Nm

B 6747/3

674780

M12x25 (10.9)
160Nm

M12x40 (10.9) M10x1,25x40 (10.9)
120Nm 55Nm

674770/14-12-2021/4




ser.nr:
M10x1,25x40 (10.9)
55Nm

6 M P
8 6747/4

M12x40 (10.9)
T05Nm

B 6747/3

674780

M12x25 (10.9)
150Nm

M12x40 (10.9) M10x1,25x40 (10.9)
105Nm 55Nm

674770/14-12-2021/5




(2x) M6x20 (10.9)

(2x) M12x70 (10.9)

(4x) M12x40 (10.9)

(4x) M10x1,5x35 (8.8)

(2x) M6

& (4x) M12
(4%) M10
<53 (2x)
(2%)

674770/14-12-2021/6




1000km

674770/14-12-2021/7




NL

* Brink Towing Systems B.V. is niet aansprakelijk voor de schade die het
direct of indirect gevolg is van onjuiste montage, daaronder begrepen
gebruik van niet-geschikte gereedschappen en het gebruik van andere
dan de voorgeschreven montagewijze en middelen, dan wel onjuiste
interpretatie van dit onderhavig montagevoorschrift.

GB

NOTE:

* Should this installation process entail the cutting of the bumper -
conformation MUST be obtained by the installation engineer of the
customer’s acceptance prior to completion. Brink Towing Systems
B.V. do not accept responsibility for any matters arising as a result of
this miscommunication.

All measurements are in mm!

* Brink Towing Systems B.V. is not liable for damage caused directly or
indirectly by incorrect assembly, including the use of unsuitable tools,
the use of other assembly methods and means than the ones outlined,
and the incorrect interpretation of these assembly instructions.

D

HINWEISE:

* Die fur das Fahrzeug zugelassene Anhdngelast ist den Fahrzeug Unterlagen zu
entnehmen. Bei Anderungen des Fahrzeuggewichtes mup die héchstzulassi-
ge Anhéngelast gegebenenfalls aus dem D-Wert nachgerechnet werden.
Auskunft hieriiber kann Ihr Fachhandler oder der TUV geben.

* Elektrische Anlage gemap StVZO anbringen.

* Brink Towing Systems B.V. haftet nicht fiir Schaden, die als direkte oder
indirekte Folge einer nicht ordnungsgeméRen Montage auftreten,
darunter fallen auch die Benutzung von ungeeigneten Werkzeugen,
andere als die vorgeschriebenen Montageverfahren und Montagemittel

sowie eine fehlerhafte Interpretation der betreffenden Montage-
anweisung.

E

* Brink Towing Systems B.V. décline toute responsabilité pour les domma-
ges qui pourraient directement ou indirectement résulter d'un montage
incorrect, y compris ['utilisation d’outils inappropriés et ['utilisation d'un
mode d’emploi et de moyens autres que ceux prescrits, ou bien résulter
d'une interprétation inexacte des présentes instructions de montage.

S

* Brink Towing Systems B.V. ar inte ansvariga for skada som orsakats
direkt eller indirekt av felaktig montering, inklusive anvandning av
oldmpliga verktyg, andra monteringsmetoder och processer an de som
beskrivs, samt felaktig tolkning av dessa monteringsinstruktioner.

DK

* Brink Towing Systems B.V. er ikke ansvarlig for skade der direkte eller
indirekte er forarsaget af forkert montage, herunder ogsa iberegnet
brug af forkert veerktgj og anvendelse af anden montagemetode og
andre montagemidler end de foreskrevne samt fejltolkning af den
medfglgende montagevejledning.

E

*Brink Towing Systems B.V. no se responsabiliza por dafios causados,
directa o indirectamente, por un montaje incorrecto, incluyendo el uso
de herramientas inadecuadas, por el uso de métodos de montaje y
medios distintos a los indicados y por la interpretaciéon incorrecta de
estas instrucciones de montaje.

674770/14-12-2021/8



* Brink Towing Systems B.V. non puo essere ritenuta responsabile per
eventuali danni direttamente o indirettamente dovuti ad un errato mon-
taggio, intendendo con cid anche ['uso di attrezzi non idonei e ['uso di
metodi e mezzi di montaggio diversi da quelli prescritti, nonché all'errata
interpretazione delle seguenti istruzioni di montaggio.

PL

Brink Towing Systems B.V. nie ponosi odpowiedzialnosci za straty
poniesione posrednio lub bezposrednio na skutek niewtasciwego
montazu, w tym uzycia niewtasciwych narzedzi i sposobéw montazu
niezgodnych z instrukcja, oraz niezastosowanie sie do tresci instrukgji.

*

SF

Brink Towing Systems B.V. ei ole vastuussa vioittumisesta, joka on suor-
aan tai epdsuoraan aiheutunut vaarasta asennuksesta samoin kuin sopi-
mattomien tyokalujen kaytosta, muiden kuin ohjeissa mainittujen asen-
nusmenetelmien tai valineiden kaytosta seka kyseisten asennusohjeiden
vaarintulkinnasta.

*

cz

Spolec¢nost Brink Towing Systems B.V. neodpovida za pfimé ani nepfimé
Skody zplsobené nespravnou montazi, véetné pouziti nevhodnych
ndstrojl, pouziti jinych metod montaze a prostfedkl nez uvedenych a
nespravnym pochopenim téchto pokynd k montézi.

*

H

*

A Brink Towing Systems B.V. nem vallal felel6sséget a nem megfeleld
szerelésbdl kozvetlen vagy kozvetett médon kovetkezd karokért. Ez
vonatkozik a nem megfelel§ szerszdmok hasznélatéra, a lefrtaktél eltérd
modszerek és eszkozok alkalmazédsara, valamint a szerelési Gtmutatd

téves értelmezésére.

RUS

* ®ypma Brink Towing Systems B.V. He oTBeYaeT 3a yLiepb, ABASIOWMIACA
NPAMbIM WM KOCBEHHbIM CNefCTBMEM HEMNMpPaBWIbHOTO MOHTaXa, B TOM
4Yncse MCnosib30BaHWA HENOAXOAALMX MHCTPYMEHTOB M MPUMEHEHNS
MHOTO Cnocoba MOHTaXa WM APYrMx CPeacTB, Yem MnpefnncaHo B
NHCTPYKLMK, B0 HENPABWIbHOTO MCTOIKOB3HNA HACTOALLEN MHCTPYK-
LMK MO MOHTaXy.

674770/14-12-2021/9



ﬂ

- (R e v

‘@ o Disconnect
\/

674770/14-12-2021/10



) 3]+ [

[7a]

/

D

@@

rPRoOcEER

|

TSN

()

=

T

Iy

o Disconnecl

674770/14-12-2021/11



M10x1,5x35
(8.8)

@x) M10] -

674770/14-12-2021/12




674770/14-12-2021/13

Vil

\ . W.bm.,.u-.@!- ©

.=l=_ _ _I-
I‘L/ A‘

— /.am.. RS

i!
1]
!ﬂ/’_’\ﬂ

®
— . C -\"/ _
— "l T
e e

©

= "1@\,\.”'#‘\&?\. I'W!M»WW
Y=
Fi ©
pry——
Xm®@ =
=52 =
= =
3 S
S
s

é

tH

—

i

L —

;
N
54




674770/14-12-2021/14



@
CeEEED

EEa

<

T
o

|

=N
\/

o
[a—
(—

X2

-~

674770/14-12-2021/15



@D

I &—

PEOCEED

"/

o Connect

674770/14-12-2021/16




NL GB D F S DK E PL FS Cz H Rus
Sjabloon Template Schablone Gabarit schablonen skabelon Plantilla Sagoma Szablon Malline Sablona Sablon LWabnoH
Binnenkant Inside bum- [ Innenseite Intérieur du | Stétfangarens | Kofangerens Lado interior Lato interno del Wewngtrzna Puskurin Vniti strana | Belsé BryrpenHan

o - ; del paracho- - strona zder- e < : Lr2 . | CTOPOHa 6am-
bumper per StoRstange pare-chocs | insida inderside paraurti sisdpuolelle | ndrazniku lokharito
ques zaka nepa
Buitenkant Outside AulRenseite Extérieur du | Stotfangarens | Kofangerens Lado exterior Lato esterno Zewnetrzna Puskurin Vnéjsi strana | Kilsé HapyxHaa
) . del paracho- - strona zder- < : fnx . | cTOpOHE Bam-
bumper bumper StoRstange pare-chocs | utsida yderside del paraurti ulkopuolelle | nérazniku okharito
ques zaka nepa
Underside Lado inferior Spod/ Spodnf
Onderkant bumper / Unterseite Dessous du | Stotfangarens | Kofangerens Lato inferiore P . puskurin ala- | >P Alsé HvxHWI Kpaw
. . del paracho- ; krawedz strana PO
bumper Bumper StoRstange pare-chocs | undersida undersiden del paraurti puolelle p . 6khérité | 6amnepa
edge ques zderzaka narazniku
. . . . e ‘ . . [ CpeaHve
Midden bum- | Middle bum- | Mitte Milieu du Stotfangarens | Kofangerens | Centro del Centro del Srodek zder- | Puskurin Stied Kozépsé dacTy
per per StoRstange pare-chocs | mitt midte parachoques paraurti zaka keskelle narazniku lokharito Gamnepa
Links LHS Links Gauche Vanster Venstre Izquierdo Sinistra Lewy Vasen Levastrana | Bal CneBa
Rechts RHS Rechts Droit Hoger Hajre Derecho Destra Prawy Oikea Pravé strana |Jobb CnpaBsa
Uitsnijden Cut out Ausschneiden | Découper Klippa ut Skeere ud Cortar Ritagliare Wycigé Leikata Vyfiznout Kivadgas Bbipes
Buiglijn Bend line Biegelinie ngne de Bojlinje Bukke linie Doblar linea Linea di piega Linia zagiecia | Taivutuslinja | Linie ohybu Hajtasi JIHAA n3rv-
pliage vonal 6a
X . . . . - Csatlakoz
Koppelen Connect Verbinden Connecter Koppla in Forbind Conectar Connettere Potaczyc Kytked Pripojit s CoeanHUTb
Ontkoppelen | Disconnect | Abkuppeln Déconnecte Koppla fran Afbryd Desconectar Disconnettere | Odtaczy¢ Katkaista Odpojit Sltavol\ta PasbeanH1TL
Without ohne sans trappe uden daekpla- | _. . ole puskuris- nélkal
zonder bum- . . - sin tapa para- | senza copripa- | bez ostony ; bez krytu inz . | D€3 KOXyXa
bumperco- | Stol3stangen- | de pare- utan tackpldt | deistedfan- ’ 5a SUojus- ) p (6kharité
perklep choques raurti zderzaka R narazniku 6amnepa
ver klappe chocs geren levyd burkolat

674770/14-12-2021/17




674770/14-12-2021/18



Dispositivo di traino tipo: 6747

Per autoveicoli: Kia Proceed GT-Line
Proceed GT

Tipo funzionale: D

Classe e tipo di attacco: A50-X

Omologazione:

E1155R 0111603

O O N N O O RS B EE BN EE B B EE EE EE B B Ee Ee e e =

Valore D: 8.41kN

Carico Verticale max. S: 75 kg

Larghezza rimorchiabile per Caravan e T.AT.S.: 2,45m vedere CARTA di CIRCOLAZIONE VEICOLO (motrice) + 70 cm = ..arrotondare ai 5 cm
superiore (vedi D.M.28/05/85)

Massa rimorchiabile: vedi carta di circolazione dell’ autoveicolo

Per verificare l'idoneita del dispositivo di traino omologato a

norma UN ECE R55, all'installazione sulla vettura su cui si intende D=TXC x0,00081 <8.41kN

procedere al montaggio, compilare la seguente formula (se neces- T+C

sario declassare la massa rimorchiabile): dove: T= Massa Complessiva Max. della motrice (in kg)
C= Massa Rimorchiabile Max. della motrice (in kg)

DA COMPILARE PER IL COLLAUDO

DICHIARAZIONE DI CORRETTO MONTAGGIO: la sottoscritta Ditta dichiara di aver montato in maniera corretta ed in conformitZalle prescrizioni
sia del costruttore del veicolo che del costruttore del dispositivo stesso il seguente dispositivo di attacco meccanico:

PO s TIMBRO e FIRMA

Si dichiara inoltre di aver informato l'utente del veicolo sull'USO e MANUTENZIONE del dispositivo stesso.

674770/14-12-2021/19






(NL) “Beste klant,

Dank u voor de aanschaf van dit Brink kwaliteitsproduct.

Het kan zijn dat u in deze handleiding verwijzingen tegen komt in
tekst of beeld naar het merk Thule. Graag willen wij u er op wijzen
dat per oktober 2014 de naam van het bedrijf Thule Towing
Systems B.V. is gewijzigd in Brink Towing Systems B.V. In voorko-
mende gevallen kunt u het merk en bedrijfsnaam ‘Thule’ dan ook
lezen als ‘Brink’. Dank voor uw begrip.

Brink Towing Systems B.V.

(GB) "Dear Customer,

Thank you for purchasing this quality Brink product. It may be the
case that you come across image or textual references in this ma-
nual to the Thule brand. We would like inform you that as of
October 2014, the name of the company Thule Towing Systems
B.V. has been changed to Brink Towing Systems B.V. In future,
you should therefore read any instances of the Thule brand or
company name as Brink. Thank you for your understanding.
Brink Towing Systems B.V.

(D) ,Sehr geehrter Kunde, sehr geehrte Kundin,

Vielen Dank, dass Sie sich fir dieses Qualitatsprodukt von Brink
entschieden haben. Es ist mdglich, dass Sie in diesem Handbuch
Abbildungen oder Angaben finden, die sich auf die Marke Thule
beziehen.

Wir moéchten Sie gerne dariber informieren, dass ab Oktober
2014 der Name des Unternehmens Thule Towing Systems B.V. in
Brink Towing Systems B.V. gedndert wurde. Wenn Sie zukinftig
die Bezeichnung oder Marke Thule sehen, bezieht sich dies auf
Brink. Vielen Dank fur Ihr Verstandnis.

Brink Towing Systems B.V.

(F) Cher client,

Nous vous remercions d'avoir choisi ce produit Brink. Il est possi-
ble que vous rencontriez la marque Thule au travers des images
ou des références textuelles du présent manuel. Nous souhai-
tons vous informer que depuis octobre 2014, le nom de la société
Thule Towing Systems a été modifié en Brink Towing Systems
B.V. Al'avenir, toute mention faite de la marque ou de la société
Thule devra donc se lire Brink. Nous vous remercions de votre
compréhension.

Brink Towing Systems B.V.

(S) Basta kund,

Tack for att du kopt denna kvalitetsprodukt frén Brink. Det kan
handa att du stoter pé bild- eller textreferenser till market Thule
i den har manualen. Vi skulle vilja informera om att Thule Towing
Systems B.V. frén och med oktober 2014 har bytt namn till Brink
Towing Systems B.V. Darmed ska alla férekomster av Thule ldsas
som Brink. Vi ber om 6verseende med detta och tackar for din
forstaelse.

Brink Towing Systems B.V.

(DK) "Keere kunde

Tak, fordi du har kebt dette kvalitetsprodukt fra Brink. | denne
vejledning vil du muligvis stede pa billeder eller tekstmasssige re-
ferencer til varemaerket Thule. Vi vil gerne informere dig om, at
navnet pa virksomheden Thule Towing Systems B.V. fra og med
oktober 2014 er blevet andret til Brink Towing Systems B.V.
Fremover skal du derfor laese alle forekomster af Thule-va-
remaerket eller firmanavnet som Brink. Tak for din forstaelse.
Brink Towing Systems B.V.

(E) "Estimado/a cliente:

Muchas gracias por adquirir este producto Brink de alta calidad.
Es posible que encuentre en este manual referencias textuales o
imagenes relativas a la marca Thule. Nos gustaria informarle de
que, a partir de octubre de 2014, el nombre de la empresa Thule
Towing Systems B.V. ha cambiado a Brink Towing Systems B.V.
Por lo tanto, de aqui en adelante, todas las alusiones a la marca
Thule deben entenderse como referencias a la marca Brink.
Gracias por su comprension.

Brink Towing Systems B.V.

Brink Group

(1) "Egregio Cliente,

La ringraziamo per aver acquistato questo eccellente prodotto
Brink. E possibile che il presente manuale presenti dei riferimenti
testuali o visivi al marchio Thule. Desideriamo informarLa che dal
mese di ottobre 2014, il nome della societd Thule Towing
Systems B.V. & variato in Brink Towing Systems B.V. In futuro per-
tanto tutti i riferimenti al marchio Thule o al nome della societa
indicheranno di fatto la societa Brink. La ringraziamo per la colla-
borazione.

Brink Towing Systems B.V.

(PL) Szanowny Kliencie!

Dziekujemy za zakup wysokiej jakosci produktu Firmy Brink. W ni-
niejszej instrukcji moga sie znajdowac graficzne lub tekstowe od-
niesienia do marki Thule. Pragniemy poinformowac¢, ze od pazd-
ziernika 2014 roku spétka Thule Towing Systems B.V. zmienita
nazwe na Brink Towing Systems B.V. Dlatego wszelkie wzmianki
o marce Thule teraz odnosza sie do marki Brink. Dziekujemy za
wyrozumiatosé.

Brink Towing Systems B.V.

(SF) "Arvoisa asiakas,

Kiitdmme laadukkaan Brink-tuotteen hankinnasta. Tassd kayt-
toohjeessa saattaa olla kuvia tai tekstiviitteitd, jotka koskevat
Thule-merkkia. Haluamme ilmoittaa teille, ettad lokakuussa 2014
Thule Towing Systems B.V. on muuttanut nimekseen Brink
Towing Systems B.V. Tulevaisuudessa kaikki kaikki viittaukset
Thule-merkkiin muutetaan Brink-merkiksi. Kiitdmme ymmarta-
myksestanne.

Brink Towing Systems B.V.

(Cz) ,vazeny zakazniku,

dékujeme Vam, ze jste si zakoupil tento kvalitni vyrobek znacky
Brink.

Mozna jste v tomto navodu narazil na obrazek nebo textové od-
kazy se znackou Thule. Chtéli bychom Vas informovat, Ze od fijna
2014 byl nazev spole¢nosti Thule Towing Systems B.V. zménén
na Brink Towing Systems B.V. V budoucnu byste proto mél brat
vsechny odkazy na znacku nebo nazev firmy Thule tak, ze se jedna
o znacku Brink. Dékujeme Vam za Vase pochopeni.

Brink Towing Systems B.V.

(H) Tisztelt Ugyfeliink!

Koszonjik, hogy a Brink minéségi termékét vélasztotta.
El6Fordulhat, hogy az Gtmutatéban talalhaté képeken vagy sz6-
vegekben a Thule markara valé hivatkozast talal. Tajékoztatjuk,
hogy 2014 oktéberétél a Thule Towing Systems B.V. vallalat neve
Brink Towing Systems B.V. lett. Ezért, ha a jévében a Thule
markara vagy vallalatra valé hivatkozast talal, azok a Brinkre vo-
natkoznak. Megértését kdszonjik!

Brink Towing Systems B.V.

(RUS) YBaxaeMblIn nokynatesb!

Bnaroaapvm Bac 33 npuobpeTeHne BbICOKOKAYECTBEHHOTO 13-
nenvs Brink. B gaHHOM pykoBoAcTBe Bam MOTyT BCTPETUTLCA WII-
NIOCTPaLMKM WJIM TEKCT CO CCbINKOM Ha 6perp Thule. Coobuiaem
BaMm, uTo c okTa6pa 2014 r. komnanma Thule Towing Systems B.V.
M3MeHW/1a CBoe Ha3BaHue Ha Brink Towing Systems B.V. B ganb-
HelleM Bce YrNoMMHaHWA 6peHa WM HA3BaHMA KOMMaHWK
Thule cneayet BocnpuHMMaTh Kak Brink. Cnacnbo 3a noHuma-
Hue!

Brink Towing Systems B.V.

Your perfect fit
brink.eu



